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Fall *09/MAT 140/Worksheet 3 Name:
1. (5pts) Solve the equations.
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3. (3pts) Sﬂlvr{ by completing the square.

22+ 8r—9=0
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4. (8pts) How many gallons of pure alcohol must be mixed with 5 gallons of a 20% alcohol
solution in order to get a 50% alcohol solution?

P \ = f
()25 = [,

5. (8pts) An airplane averages an airspeed of 130mph. Due to a constant wind, it takes
the plane 2 hours to fly to a place, but only 1hr and 15 minutes te return from it.

a) FFind the wind speed.

b) Find how far the plane flew one-way.
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